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Efficient multiplication

O om e mitiphing 20 x4 el
o cre g o ifrent mthcs.

@) Complete their cokulations.
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) Which method do you find eosier?
Tk about i with o partner.
) Whot other methods could uou use to work out 28 x 47

()

©) o A cnd A ke ou 35 x 6 in 3 diffsrnt .

T mutiplied
30 by 6 ond then added
5 more lots f 6

T multipied
35 by 2, then mlplied
that answer by 3

T multiphied
5 by b, then multped
that answer by 7

(aonie )

) Work out the answer uing sach methed o show that they

ore oll comect.

Mo Amiv
30n 62180 35230
5x6s 30 3043228

nrie

seeni0
0x3 200

) Who hos used the mest effcent method?
Talk about it with a partner.
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Use Esther's method to complete the calulotions.

oxs-[15 mxs[30
ERNED

) Wt mistoke s ot mode? Q

5 What s the corect anwer? o (@) omeny ond Dor oveboth werking ot 25 8

¢ =@

) Use Tommy's method to work out the answer.

%xa

Adapt Jack's method to work out 36 x 99 b) Use Dora’s method to work out the answer.
=
¢ e o e
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Written methods

Q) o s s 10t work et 3063

Tens

Use bose 10 to work out 3 x 28 and 3 x 36 Q

EPENEN 3x3=[ 100
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0x6=60 0x6=60

axs-2:
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) Tolk about Class 5 methad with o partner.

b) Use o number ine t complete the muliplications.
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‘What mistoke has Mo made?

Talk bout it vith a partner

‘What should the rumber fine lok ike? Drav it here.

A former is calalating the nummber of sheep on her form.
She hos  felds:
Each fisld hos 35 sheep.

Use a written method o work out how mang sheep there
are altogether

Here ore & multilications.

axso| [3x33 | [5x36 | [9x32| [7x21| [6x2s

) Talk about Amir's method vith o pertner.

) Use Amir's method to complts the multipliations.

2x

12 7=l 00

ax

A O 3 o G G
Which of the multiplictions would you colculate mentally?
Which of the multiplicotions would you e o writen

mathod for?

Tolk about your choices with o partner.

Complete the multplicatons. Show your working
where naceszary

axso=[ 0o oxx2=[ e
axa-[ 0 7xn=[ 0
sx36-[ 0 x25-

o
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()
Multiply 2-digits by 1-digit (1) € Use the ploce value chart to work ot 2 x 26

Complets the mutplcaton sentences.

00 [0000| :.x.
© Fon 5o Mo e b 22 i ® 00 |0000] ...
866 @ Arwie works e 43 x2 56
see [ e m
0000|000 i
ses 0000/000 Bon

How many merbles ore there in total?

Talk about Annis's methods with o partner.
3xzones=| What i the some? What is diferent?
3xztens=[0)
als[eo][en @ complets the muliplcations.
sz o )
To B
There ore| (9 | marbles n totol. 2/ a
FRE «| |2
ul8 88





image10.png
9 31x3 da2x2

ENEE

‘Compare onswers with a partner.

Q) sk s it ok ot 38 -2 sing e colu meth

Tm not sure *|3
iy

Show how Jock could imprave his column method ond
work out the answer.

O one tooorcoms 2

How much do 3 toastrs cost?

€%

@ Whitney hos multiplisd @ 2-digit rumber by o 1-digt rumber.

>

Whot nummbers s Whitney multilying?

Thad to do
304+9=39 0 g

my answer.

Fill inthe mising digt.

3
BNE
a

(O o e th o method 0wtk vt 412

T can work this
multighcation out in
"y head.

(e

) How do you think Evo will work this out in her heod?

B) Tick the muktiplicatons that you con work out in
wour head, Voricury ot
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White)

(i)
Multiply 3 numbers = © complets the multiplications.
@3xaxs=[ o @3xsxa=[ 5
B2x3xe=[i0 a3xex10-[1
Q) Toremy i mking s wing countas. azxaxra[E2]  maxsens[E0

@) Complete the multplications.

(1]

-+4 © = cach sotament rve o fae?
.. Tick your answers.

1

©

Tme  Fobe

Tx8=Txax2 o O
xam2xax oo
5 Usm our amswer to port o to complete the mulipliation

sxzesa[6 5[0 g/[/

2x7xa-4x7x2 o

PN ——. Q

2x5-[10 2xs-[10

© s countn o cibe 0 complet th o,

@2xaxs=[L0

@ tere ore some digitords. |3 || 5 ([ 6

Baxsxa=[0

) Use the digit cords to crects o muliplication and work out

he answer.
a2xsxs[i0

SB[
e ther @ cuick woy to complate soch calalation? Q 1) How many diferent mltiplications con you rate?

Tlk cbout it with o porner. Whot do you notice about ol of your answers? Q
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How many egas doss she buy altogether? ) What numbers could she hove rolled?
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@ 1 thetrory thre are 5 bookees
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How mony books are there in the ibrory?
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Factor palrs
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) Whot colcution s representd n eoch arroy?
eescsccccsscscscce

x[(E]=

) Use your answers from port o to help you writ oll the

E © ke countars to ke amoysand i h fctor e o

each rumber
i e aa sasen
B ns s esie
Qu s no e saiecna

Which of the rumbers has the most factor pair? 25

© Compet the foctor bugs or 85 end 64
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@ e these sotamants s o fae?

8 and 2 are both factrs of 10
5 and 50 are both factors of 50
25 has only three factors.

opEof
ooooé

Al the factors of 15 are odd.

Talk about your answers with o partner.

The bigger
the rumber the more

@ factor pars i has.
Use examples to show thot Dexter is wrong
Ee  Lhe s G2

end S mi b 0 (15)

@ Tommy s fingfocors of 12 ond 18

o) 1 Tommy correct7 e

Explain your onswer.

®)

b) Find two other numbers with the some nurmber of
foctor pois

W oeew

P YT ———
Thre e 36 dhidrn n he s
Th hden e b n el grovp.

Whot group sizes are possible?

© roseismesigeing oo o

& is o peect number

because when you add it

fastors together, apart from
e, they squal 6

Whot s the next perfect number after 67





